EARAROBEEIERT — 2 N— IBISH —F

20155F4A3H (£) 1M55#3H

S %RC154 C15 ¥5%—M% ESRE IR
[xE£] 1 %&:140,000  2#%:28,000™  3#%&:1400MH  4%:0M” / 5%&:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
sn e B -30. —1-1- 0| - INFRBSTR (S5HR)
1 o | TA T ROOY A i 4 o 1(3_0)7 1-1-1-1 | 39.0 4 :1_550) i S
L:TTRAFTEN B I-YrEaUT« I=Tapse]
o g EAfE :30. ~4-4- 6| — EEEE (S1)
2|11 |HAYTHFI-X o 56.0 1(13/0@8 e | 8.8 1 (‘:%2) B 2 EIEH :
Riq b — BihF/SeL—F A =8
Bk : Py - NgBLE (51R)
3l7|7| bENIT o4 | P 1(/3%3 2-2-2-2 | 38.9 2 <4+711) et A
Rl A k=L BIVEFRLAY A5
. o KRiES] : -3-3- — IR (%HA)
4l8ls F5H—I i 4 Zia 1(/73(1):? 3-3-3-2 |38.8 8 (4:150) e A
R:AT—bE—1 B:ATUESF— Y 2 s
sl 3| 7T IEN 5 | s 1:(392).6 7-6-7-7 (38.8| — | 6 | 48 gg;ﬁ (5£12)
A4 Rf—-5— B:7NT7IIX2H © BE &
$__ =5 it 5 | A 1:32.9 6-7-6-6 | 39.1| — 8 443 | BEEHIE®R (5H)
el 6| TATA1H-—T1X 54.0 (" 1/2) o) | ) 2 KA 152 K
R:TA—TAFAF—ZY> B:ANRTAT BT T7— L
TN t 8 | BHEN 1:32.9 5-5-5-5 [39.9| — 7 463 | LIREBA (%)
7155 | F7VKRZ g 56.0 ) o) |IBBf :
LT RIAYER B:ATUOTLR RIS
N THERE : -8-8- — FERG— ()
N . BECCETA e B s Rl R I el -
R:BALINT Ry TR BHIYXRT T Bk Bk
® I —F—@EBIERL
i3=3r= 2,7,8,1,5,6,3,4
Aol=5r= 2,7,8,1,5,3,6,4
30—7+— 2,7,8,1,5,6,3,4
41 —F— 2,(7,8),1,5,6,3,4
[ RN
B OB 2 1,580 714K 1-2 200M B E 1-2 1,070M &R 1-2-7 510M
% B 2 130 2-7 0™ | | BB 2-1 4,140 | | 3EE 2-1-7 11,180
1 100M 1-7 110H
7 110

ABICOVWTRDTEEERROODE. TR LIV,




